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2014 ERETEE
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BEFEBIEMEN FOT-TLIILEDIKYRIRT—4
# B &*
I BB
1 ZHMEE
EREZMEE 32 ¥50,000{ 1,600,000
A= ES 12 ¥50,000| 600,000
HHRERE 7 ¥100,000| 700,000| 2,900,000
2 B|FEINE
RnshES% 10 ¥6,000 60,000
BARREX 0 60,000
3 Zhthinsk
SZEFIR 0
MU AE 0
ATHARR M 181,449 181,449
BEIRAEET 3,141,449
I BEER
1 BEE
MAHE
WHRFH 0
ANGEE 0
Q)ZFDihRE
REE 1,570,000
BAREREE 200,000
RIRIR B RS 324,000
EHZEEX 350,000
ZTOIFEE 2,444,000
= 2,444,000
2 E1E
MWAHE
1% & $REN 0
WwHFL 0
ANGEE 0
Q)FDihizeE
REE 100,000
EBEEAEE 204,000
RERXBEE 360,000
ZTDhEEE 664,000
EEE 664,000
3 FlEE 33,449
BREER 3,108,000
IRZ B 33,449




